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Kl 29zmx [ NS [ EW | 25z2% | NS | EW | #1 | #7 | #1 ] #7 |#1 [ #7 || Mean | Ns | EW
1| S |None] 2SN-1 50 3NW-1 50 100 3 NS40 | -3
12| w| Ns| 3Dxs-5 1400 | 6HW-1 50 1450 16 EW110 | -15 -4
13| N |Both| 5CXN-3 800 4SW4 620 180 5 EW650 | -4 A
14 | E |None| 4SE-1 50 4SE4 420 | 470 10 EW130 | 5 7
15| s | NS 3HS-2 200 4SXN-3 800 | 600 12 EW280 | 2 1
16| W |EW 3NE3 600 3NE3 600 EW270 | -8 8
17 | N |None| 4HXW4 590 4HW4 420 170 5 EW340 | -6 2
18| E | NS 4HN-1 100 4HN-1 100 NSO 3 3
19| s |Ew| 3sN4 50 2DN6 170 220 6 NS130 | -5 A
20 | W [Both| 3Dw3 110 2NW2 120 | 10 EW50 | -2 2
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1
R £Hz2% | NS | EW | 2x422% | NS | EW | #2 | #9 |[#2] #9 | #2 [ #9 Mean NS EW
11 S |None 4HW-1 50 2SN-2 100 150 4 NS40 4
12 | W | NS 6HW-2 100 6HW-1 50 50 2 EW110 5 -4
13 | N |Both 4SW4 620 4SE5 650 30 1 EW650 1
14 | E |None 4SE4 420 4HW-1 50 470 10 EW130 -7 -5
15| S NS 4SXN-2 500 2SN-1 100 400 9 EW280 -6 -5
16 | W | EW 3NE-1 100 3NE3 600 700 12 EW270 9 8
17 | N |None 4HW-1 50 4HW4 420 470 10 EW340 9 2
18 E NS 3HN4 170 4CS4 130 40 1 NSO 5 -4
19| S | EW 3CS4 130 3NN-1 50 180 5 NS130 5
20 | W |Both 4HXE4 790 A Averagg¢ EW50 -12
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1
K| 2Hz2s [ NS | EW | enzsx | NS | EW | #3 | #6 | #3 | #6 | #3 | #6 || Mean | Ns | EW
11| S |None] 5CE-3 150 3NW-1 50 100 3 NS40 | 3
12| W | NS 6HW-2 100 6HW-1 50 50 2 EW110 | 5 -4
13 | N |Both| 4sw4 620 4sw4 620 EW650 | 1 -
14 | E |None| 4SE-1 50 5CXN-3 500 | 550 1 EW130 | 5 9
15| S | NS 3SN-1 100 3SN-2 200 | 100 3 EW280 | 5 -2
16 | W | EW 2SW2 110 3NE3 600 | 490 10 EW270 | 4 8
17 | N |None| 4HW4 420 4HW4 420 EW340 | -2 2
18| E | NS 3HN4 170 4SXE-1 100 70 2 NSO 5 -3
19| s | EW 3SN-2 100 3NN4 430 530 1 NS130 | -6 7
20 | W |Both|  3NW-1 100 4HE-3 300 200 5 EW50 | 4 -8
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R tyz 23 | NS | EW | 2¥2 2% | NS | EW | #5 | #8 | #5 | #8 | #5 | #8 Mean NS EW
11| S |None| 3NwW-2 100 4HW-2 100 NS40 2 2
12 | W | NS 6HW-1 50 THW-2 100 50 2 EW110 4 -5
13 | N |Both 4SE5 650 4Sw4 620 30 1 EW650 -1
14 | E |None 4HW-2 100 4SE-1 50 50 2 EW130 6 -5
15| S | NS 3SN-2 200 4SN-2 200 EW280 | 2 2
16 | W | EW 3NE-1 100 2CS2 20 10 EW270 9 -8
17 | N |None|  4HW4 420 2HW3 140 280 7 EW340 | -2 5
18 | E NS 4HN-2 200 3SE3 140 60 2 NSO -5 4
19| s | EW 3NN3 400 3CS4 130 270 7 NS130 | 7
20 | W |Both 2SN2 110 2SN2 110 EW50 4 -4
B3 IMP| 9 |12 27 | -28
2 3
B 5 e Ry 8 2 15
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1
i EHE S NS EW £z % NS EW #4 | #10 | #4 |#10| #4 |#10 Mean NS EW
11| S |None Averagg Averagg NS40
12| W | NS A Averagg¢ A Averagg¢ EW110
13 | N |Both A Averagg A Averagg EW650
14 | E |None A Averagg¢ A Averagg¢ EW130
15| S | NS A Averagg A Averagg EW280
16 | W | EW A Averagg¢ A Averagg¢ EW270
17 | N |None A Averagg A Averagg EW340
18 | E | NS A Averagg¢ A Averagg¢ NSO
19| S | EW A Averagg A Averagg NS130
20 | W |Both A Averagg¢ A Averagg¢ EW50
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B# | DL | £ % MPE 2HE E& 3 R% R A~ COP Datum
1
R txzex | NS | EW | cxnz22% | NS | EW | #7 | #1 [ #7 | #1 | a7 | # Mean NS EW
11 S |None 3NW-1 50 2SN-1 50 100 3 NS40 3
12| W | NS 6HW-1 50 3DXS-5 1400 || 1450 16 EW110 4 15
13 | N |Both 4SW4 620 5CXN-3 800 180 5 EWG650 1 4
14 E |None 4SE4 420 4SE-1 50 470 10 EW130 -7 -5
15| S NS 4SXN-3 800 3HS-2 200 600 12 EW280 -1 -2
16 | W | EW 3NE3 600 3NE3 600 EW270 -8 8
17 | N |None 4HW4 420 4HXW4 590 170 5 EW340 -2 6
18 E NS 4HN-1 100 4HN-1 100 NSO -3 3
19| S | EW 2DN6 170 3SN-1 50 220 6 NS130 1 5
20 | W |Both 2NW2 120 3DW3 110 10 EW50 -2 2
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1
R tyze% | NS | EW | cyzu% | NS | EW | #9 | #2 |[#9 [ #2 | #o [ #2 || Mean | Ns EW
11 S [None 2SN-2 100 4HW-1 50 150 4 NS40 -4
12| W | NS 6HW-1 50 6HW-2 100 50 2 EW110 4 -5
13 | N [Both 4SE5 650 4SW4 620 30 1 EW650 -1
14 E |None 4HW-1 50 4SE4 420 470 10 EW130 5 7
15| S NS 2SN-1 100 4SXN-2 500 400 9 EW280 5 6
16 | W | EW 3NE3 600 3NE-1 100 700 12 EW270 -8 -9
17 | N [None 4HW4 420 4HW-1 50 470 10 EW340 -2 -9
18 E NS 4CS4 130 3HN4 170 40 1 NSO 4 -5
19| S | EW 3NN-1 50 3CS4 130 180 5 NS130 -5
20 | W |Both A Averagg¢ 4HXE4 790 EW50 12
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1
¥l z9zmx [ NS | EW | 25z2% | NS | EW | #6 | #3 | #6 | #3 | #6 | #3 || Mean | Ns EW
11| S |None| 3NW-1 50 5CE-3 150 100 3 NS40 3
12| W | NS 6HW-1 50 6HW-2 100 50 2 EW110 | 4 5
13| N |Both| 4sw4 620 4sw4a 620 EW650 | 1 -
14| E |None| 5CXN-3 500 4SE-1 50 550 1 EW130 | -9 5
15| S | NS 3SN-2 200 3SN-1 100 100 3 EW280 | 2 5
16| W | EW 3NE3 600 2SW2 110 490 10 EW270 | -8 -4
17 | N |None|  4HW4 420 4HW4 420 EW340 | -2 2
18| E | NS | 4SXE- 100 3HN4 170 70 2 NSO 3 5
19| s | EW 3NN4 430 3SN-2 100 | 530 1 NS130 | 7 6
20 | W |Both| 4HE-3 300 3NW-1 100 200 5 EW50 | 8 -4
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Kl z9zmx | NS [ EW | 25z2% | NS | EW | #8 | #5 | #8 | #5|#8 |#5 || Mean | Ns | EW
1| S |None| 4HW-2 100 3NW-2 100 NS40 | 2 -2
12| w|Ns| 7HW-2 100 6HW-1 50 50 2 EW110| 5 -4
13| N |Both| 4swa 620 4SE5 650 | 30 1 EW650 | 1
14 | E |None| 4SE-1 50 4HW-2 100 50 2 EW130 | 5 -6
15| s | NS 4SN-2 200 3SN-2 200 EW280 | 2 -2
16| W |EW 2cs2 90 3NE-1 100 10 EW270 | 8 -9
17 | N |None| 2HW3 140 4HW4 420 | 280 7 EW340 | 5 2
18| E | NS 3SE3 140 4HN-2 200 | 60 2 NSO 4 5
19| s |Ew 3csa 130 3NN3 400 270 7 NS130 7
20 | W [Both|  2sN2 110 2SN2 110 EW50 | 4 -4
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P 2xs8s [ Ns [ EW | 2nagx [ Ns | EW | #10 | #4 |#10] #4 |#10[ #4 || Mean | NS | EW
11| S |None NS40
12| W | NS EW110
13 | N |Both EW650
14 | E |None EW130
15| S | NS EW280
16 | W | EW EW270
17 | N |None EW340
18| E | NS NSO
19| s | EW NS130
20 | W |Both EW50
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